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[1]: def incr_int(n):
n += 1
print("n =", n)

[2]: def main():
x = 17
incr_int(x)
print('x =', x)

[3]: class embedded_int:

def __init__(self, n):
self.value = n

def set_value(self, n):
self.value = n

def get_value(self):
return self.value

def __str__(self):
return str(self.value)

[4] : | def incr_embedded_int(N):
N.set_value(N.get_value()+1)
print ("N =", N)

[5]: def change_embedded_int (N):
t = embedded_int(N.get_value() + 1)
N =t
print ("N =", N)

[6]: def main():
y = embedded_int (17)
incr_embedded_int (y)
print("y =", y)



change_embedded_int (y)
print("y =", y)
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[7]: | import math
class Rational:

def __init__(self, x = 0, y = 1):
self .num = x

if y == 0:
self.den = 1
else:
self.den = abs(y)
if y < 0: self.num = -self.num

self.simplify ()
def get_num(self): return self.num
def get_den(self): return self.den

def _str_ (self):
if self.den ==
return str(self.num)
else:

return str(self.num) + '/' + str(self.den)

def simplify(self):
g = math.gcd(abs(self.num), abs(self.den))
self .num //= g
self.den //= g

def add(self, other):
return Rational(self.num*other.den + self.den*other.num, self.den*other.

<—>den)

def times(self, other):
return Rational(self.num*other.num, self.den*other.den)

def equals(self, other):

return self.num == other.num and self.den == other.den
[8]: x = Rational(10, 30)
y = Rational(5)
z = Rational(l, 2)



[9]: a = x.add(y)
print(x, '+', y, '=', a)

1/3 + 5 = 16/3

[10]: b = x.add(y).add(z)
print(x, '+', y, '+', z, '=', b)

1/3 + 5 + 1/2 = 35/6

[11]: a = x.times(y)
print(x, 'x', y, '=', a)

1/3 * 5 = 5/3

[12]: d = x.add(y) .times(z)
print(x, '+', y, 'x', z, '=', d)

1/3 + 5 % 1/2 = 8/3
d=x+y*z

[13]:  import math
class Rational:

def __init__(self, x = 0, y = 1):
self .num = x

if y == 0:
self.den = 1
else:
self.den = abs(y)
if y < 0: self.num = -self.num

self.simplify ()
def get_num(self): return self.num
def get_den(self): return self.den

def _str_ (self):
if self.den ==
return str(self.num)
else:

return str(self.num) + '/' + str(self.den)

def simplify(self):
g = math.gcd(abs(self.num), abs(self.den))
self .num //= g
self.den //= g



def __add__(self, other):
#return Rational (self.num*other.den + self.den*other.num, self.
—den*other. den)
return Rational (42, 1)

def _ _mul__(self, other):
return Rational(self.num*other.num, self.den*other.den)

def __eq__(self, other):

return self.num == other.num and self.den == other.den
[14]: x = Rational(10, 30)
y = Rational(5)
z = Rational(l, 2)

[15]: la = x + z
print(a)

42

[16]: print (y*z*x)

5/6
[17]: x == =z
[17]: False

[18]: dir(int)

[18]: ['__abs__',
' _add__',
' __and__"',
'__bool__"',
' _ceil__"',
' class__',
' __delattr__',
' dir__"',
' __divmod__"',
' doc__"',
‘__eq__',
' _ _float__',
'__floor__',
' __floordiv__"',
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'denominator',
'from_bytes',
'imag',
'numerator’',
'real',
'to_bytes']



